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Answer all the questions: ; _
| ¥E ' (Group 'A") [3x(1+1)=6]

1 (a) SO @W T T T3 TRHaIE. ] I TR |
heféentageintermsof amount of VAT and selling price. -

A triangle and a parallelogram are standing on the same base and
between the same parallels, then what is the ratio of the area of triangle
to the area of parallelogram?

A
(b) fezuar fermmr, ABCD U er =i S & | ZDAB

TLECDfFTdR e g S §g 1
In the given figure, ABCD is a cyclic B
quadrilateral. What is the relation of ZDAB

with ZECD? BT €

D
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-(b) &t T (Simplify): —

wF ‘@ (Group 'B') [4x(2+2)+3x(2+2+2)-34]

(a) ﬁmmmmsomoam&q&raﬂmmm
m@ﬁwz%maﬁmmﬁ?w
 AMRETRE

The present population of a city is 50,000. If the populat:on growth

rate of the city is 10%, what will be the p0pulatnon after two years?
Fmd it. '

(a) AT ey - i STl

he length of
the side of the

(a) THER (Simplify) : V48
(b) BTSN ATUTiTRTT T8 AT 'qTrIT ﬂﬂl‘aﬂﬁﬁ (Find the value by rationalizing

J341
the d t
e denominator): \/- |
(a) & TR (Simplify): 8m>p=2q° x N2Tm®poq
a +1 a -1

¥ 2
—a+l a +a+l
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oy 1 b+c
H‘{Ff?l’-iﬁ'i{(Smphfﬂ. WL
Fer=rmm, MAT'S TSl SHHWR wqe T TR L MR
g1 gk MA = 12881, TTR=5%., s1g, P
SAT @l 8% T AMSTEI | '
In the figure, MATS is a parallelogram and

TRLMR.If MA=12cmand TR=5cm, findthe M
area of the triangle SAT. <y

In a continuous data, if mean (;)= 40.me =320 +.P and N =09, find
the value of p.

3 3| 34 g AfaTH FgETIRAEEATE RS TS TR 4T W e 8
AEAT FET 9 FAT T TR Ol SR |

- Find the probability of ggtin_g the card of a prime number or a square
number when a card is drawn randomly from the number cards
numbered from 3 to 34,
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(b) Tl fefegat 52 oot qEaTe g7 AU FEE qgeter AEE®
Rnferat | qa amer aETE U TS Wi g 7 TR S el |
Two cards are drawn at random successively without replacement
from a deck of well-shuffled 52 playing cards. What is the probablhty
of gettmg both king cards? Find it. |

TE T (Group 'C) ' [10x4=40]
11) szoomhﬂmn&qﬁﬂ%mmﬂ&mmwmﬁthmm

T RSS! I 2:3 U, STEHed 60 ST g 7 G q< 30 A 5 AT
WIWWT&WWWWWWWI

In a survey of 200 peo t was found that the ratio of
the people who li ence only is 2:3. Out of
them, 60 people il cboth. Find the number
of people w oram.

12) afg 1 a¥ Y 310 T TR
q<r
If the ye 11,000 and
Rs. 13,310

13) U3eT a8 56 &
T T 9 ECGECD
&Re T
An object is mg i t of the cylinder
is 56 cm, total hei ight of the cone is
17 cm, find the curved st ST

14)Uﬁ'a+b+c-—m'3m, AT : b + ¢ = m, prove that):

xza x2b . x2c
f:— - ' + =1

-\ x 2a +xm -b +xm ¢ x2b +xm—c+xm-a x2c+xm—a +Ym-b

S) ﬁﬁ-ﬁrwmﬁmamﬁwwamm 1 &G 5 St
o 4 ﬁrﬁ &g T e AT ORI SRRy |

_ In a fraction, the numerator is'l less than the denominator. If 1 is added
to the numerator and § is added to the denommator the fraction becomes

, find the original fraction,
2 | . SAT:
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TG W T TR

~ Prove that the area of parallelograms standing on the same base and
between the same parallels are equal. |

17) AB=4&Pr., BC=42% /7, CD=5% ., AD=>5.5%.f. T LZABC=135°

%@WWABCD@WWnWABCDﬁ%W'
T T Pgret o @ TR ‘
Construct a quadrilateral ABCD with AB=4 cm, BC=42cm,CD=5cm,

AD =5.5 cmand ZABC = 135°. Also construct a triangle whose area is
equal to the area of the quadrile

yre@ (Marks) _ -20120-4 — - 80-10
feramdt E@IT'(Number of students)| 2 x 8 B r 1
| T ‘T (Group 'D") | [4X5=20)

21) 9T 01/10/2019 41 A9 T 343, Afohg FraiwT AERRER 1 Wi

A= X' 113,70 @ FW AE 22,740 W7 I TR WG| T I

31/10/2019 W1 1 i@ X = A%, 112,95 & T @it X A& §y

QG | THL HET HETAT STETS AT a1 AT o lr ST ? T qeen |

af 31/10/2019 AT 10% A T57 e WA WO I & Ry AR A
AT gt Rt 2 ‘
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Dinesh exchanged NRs. 22,740 on 01/10/2019 from Nepal Rastra Bank,
Banking office Baluwatar at the rate of 1 US dollar = NRs. 113.70. He
again exchanged the same dollars to NRs. on 31/10/2019 at the rate of
1 US dollar = NRs. 112.95. How much profit or loss did he bear in
exchanging money? Find it. If Nepali currency was revaluated by 10% on
31/10/2019, what amount of profit or loss did he bear?

22) Wmﬁwra@w@w&n@mmﬁnww
Rratrsat smaa 24,576 ¥« &.5. Q& zomaﬁ@rﬁr mﬂﬁmm
wmwﬁ@%m?wml | |

Ratio of length of a side of .base'and slant heisht.of a sqﬁare based pyrarmd
is 6:5 and its volume ig%4,5 lun\ cost of painting its

surfaces atther / \

23) feguar @i 3
From the give G i o ] 'x)"‘*‘)’z,

e 4l of

ZPRS = ZQSM 9T ARSQ =
& ST YA T |
In cyclic quadrilateral PQRS, sides PQ
and RS are produced and intersected .
at point M. If ZPRS = ZQSM, prove P

- that: ZRSQ =£PQS.
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